

$$I(1) \int_0^1 (1+t^2)^4 t = \frac{1}{2} \int_0^1 (1+t^2)^4 (1+t^2)' dt$$

$$= \frac{1}{2} \int_1^2 x^4 dx$$

$$\uparrow \\ x=1+t^2$$

$$\begin{array}{c|c} t & 0 \rightarrow 1 \\ \hline x & 1 \rightarrow 2 \end{array}$$

$$= \frac{1}{2} \left[\frac{1}{5} x^5 \right]_1^2 = \frac{1}{10} (32-1) = \frac{31}{10}$$

$$(2) \int_0^1 (1-t)^6 dt = - \int_0^1 (1-t)^6 (1-t)' dt$$

$$= - \int_1^0 x^6 dx$$

$$\uparrow \\ x=1-t$$

$$\begin{array}{c|c} t & 0 \rightarrow 1 \\ \hline x & 1 \rightarrow 0 \end{array}$$

$$= - \left[\frac{x^7}{7} \right]_1^0 = -\frac{1}{7} (0-1) = \frac{1}{7}$$

Alternative

$$I = \int_0^1 (1-x)^6 dx$$

$$1-x=t \quad t \text{ increases from } 1 \text{ to } 0 \quad x = g(t) = 1-t \quad t \text{ decreases}$$

$$g'(t) = -1$$

$$\begin{array}{c|c} t & 1 \rightarrow 0 \\ \hline x & 0 \rightarrow 1 \end{array}$$

$$I = \int_1^0 t^6 (-1) dt = \dots$$

$$(3) \quad I = \int_0^1 t (1-t)^5 dt =$$

$$\{(1-t)^6\}' = -6(1-t)^5 \quad \& \& \& \quad \left\{-\frac{1}{6}(1-t)^6\right\}' = (1-t)^5$$

$$I = \int_0^1 t \left\{-\frac{1}{6}(1-t)^6\right\}' dt$$

$$= -\frac{1}{6} [t(1-t)^6]_0^1 + \frac{1}{6} \int_0^1 (1-t)^6 dt$$

$$= \frac{1}{6} \cdot \frac{1}{7} = \frac{1}{42}$$

(R11 134)

$$I = \int_0^1 x(1-x)^5 dx$$

$$t = 1-x \quad \& \& \& \& \& \quad x = 1-t$$

$$x = g(t) = 1-t \quad \& \& \& \& \& \quad g'(t) = -1$$

$$= \int_1^0 (1-t) t^5 (-1) dt$$

$$g'(t) = -1$$

$$= \int_0^1 (t^5 - t^6) dt$$

| | | |
|---|---|---|
| t | 1 | 0 |
| x | 0 | 1 |

$$= \left[\frac{t^6}{6} - \frac{t^7}{7} \right]_0^1 = \frac{1}{6} - \frac{1}{7} = \frac{1}{42}$$

$$(4) \quad I = \int_0^1 (2x+1)^4 dx$$

$$2x+1 = t \quad \& \& \& \& \& \quad x = g(t) = \frac{1}{2}(t-1)$$

$$\& \& \& \& \& \quad g'(t) = \frac{1}{2}$$

| | | |
|---|---|---|
| t | 1 | 3 |
| x | 0 | 1 |

$$= \frac{121}{5}$$

$$I = \int_1^3 t^4 \cdot \frac{1}{2} dt = \frac{1}{2} \left[\frac{1}{5} t^5 \right]_1^3 = \frac{1}{10} (3^5 - 1) = \frac{242}{10}$$

$$(5) \int_0^1 \frac{t}{(1+t^2)^2} dt = \frac{1}{2} \int_0^1 \frac{(1+t^2)'}{(1+t^2)^2} dt$$

$$= \frac{1}{2} \int_1^2 \frac{1}{x^2} dx = \frac{1}{2} \left[-\frac{1}{x} \right]_1^2 = \frac{1}{4}$$

II

$$g(x, y) = x^2 + xy + y^2 - 1 = 0 \quad a \in \mathbb{R}$$

$$g_x = 2x + y, \quad g_y = x + 2y$$

$$g_{xx} = 2, \quad g_{xy} = g_{yx} = 1, \quad g_{yy} = 2$$

7.)

$$g''(x) = \frac{1}{(2x+y)^3} \begin{vmatrix} 0 & 2x+y & x+2y \\ 2x+y & 2 & 1 \\ x+2y & 1 & 2 \end{vmatrix}$$

$$g''(0) = \frac{1}{2^3} \begin{vmatrix} 0 & 1 & 2 \\ 1 & 2 & 1 \\ 2 & 1 & 2 \end{vmatrix}$$

$$= \frac{1}{8} \begin{vmatrix} 0 & 1 & 2 \\ 1 & 2 & 1 \\ 0 & -3 & 0 \end{vmatrix} = -\frac{1}{8} \begin{vmatrix} 1 & 2 \\ -3 & 0 \end{vmatrix} = -\frac{1}{8} \cdot 6$$

↑

$$3 \cdot (-2) = 2 \cdot (-2)$$

($\frac{f}{g}$)

$$x^2 + x \varphi(x) + \varphi(x)^2 - 1 = 0$$

x 2" 1 1/2 1/2 1/2 1/2

①

$$2x + x \varphi'(x) + \varphi(x) + 2 \varphi(x) \varphi'(x) = 0$$

7.)

$$\varphi'(x) = -\frac{2x + \varphi(x)}{x + 2\varphi(x)}$$

$$\varphi'(0) = -\frac{1}{2}$$

① $2'' \times 2''$ 4x4x3x2

$$2 + \varphi'(x) + x \varphi''(x) + \varphi'(x) + 2(\varphi'(x))^2 + 2\varphi(x) \varphi''(x) = 0$$

71)

$$\varphi''(x) = \frac{2 + 2\varphi'(x) + 2(\varphi'(x))^2}{x + 2\varphi(x)}$$

= 4x2/2 = 2x 4x = 8x'' 2'' 4x2